(check applicable box)

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

☐ FEDE	ERAL CANDID	ATE	STAT	E/LOCAL CA	ANDIDATE
	vail Themselv ow, Federal C			the second secon	
Station ar	nd Location:	RELXETY	RICE LA	WI 3	130/023
I,	BRIAN C	LAUDA	JIC		
	fof: BE	00000		C	, a legally
	date of the				political
	fice of: Town		ANLEY ?	SUPERV	ISOR
	GENERA	, /			
election to be h	ield on:	14/202	.5		
do hereby requ	est station time as	follows:			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
	(/			\
		PEE A	·IIAC	HED	
5 to 25 575 to				The state of the s	***
otal Charg	es:	330.	90 '		***************************************

for programming that, in w national importance," list th	e matters below:	
represent that the payment	for the above described broadcast time has been furnished by:	
BRIAN (CLAUDNIC FOR TOWN OF STANLEY	5
epresent that this person or	nounce the time as paid for by such person or entity. r entity is either a legally qualified candidate or an authorized be legally qualified candidate.	
e name of the treasurer of	the candidate's authorized committee is:	
SELF		
	me its political advertising policies, including: applicable classes and rate d other sales practices (not applicable to federal candidates).	es;
	OT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASE IN THE PLACEMENT OF ADVERTISING.	IS
To Re Signed	By Candidate or Authorized Committee	
3/30/023	R Busi	
Date	Signature	
To Be Sig	gned By Station Representative	
Accepted	Accepted in Part Rejected	
(1///	DANEW JENSEN V.P. SALES	

WJMC P.0. BOX 352 RICE LAKE, WI 54868 USA 715-234-2131

Order #: 9836-00005
Description: POLITICAL
Date Entered: 3/31/2023

P.O.#:

Salesperson: ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR PO BOX 165 CHETEK, WI 54728

On-Air Schedule

į	Start Date	End Date	Station	Scheduled	i Time/Eyent	Repeated	Length	Qly	Rate	Total	M	Tu	W	Th	F	Sa	Su
1	4/3/2023	4/3/2023	WJMC-FM	08:00:00	to 10:00:00	Weekly	:30	2	0.00	0.00	2	0	0	0	0	0	0
2	4/3/2023	4/3/2023	WJMC-FM	10:00:00	to 15:00:00	Weekly	:30	2	0.00	0.00	2	0	0	0	0	0	0
3	4/3/2023	4/3/2023	W.IMC-FM	15:00:00	to 19:00:00	Weekly	:30	2	0.00	0.00	2	0	0	0	0	0	0

Order Start Date: 4/3/2023

Order End Date: 4/3/2023

Spots: 6

Total Charges:

\$0.00

Projected Calendar Month/End-Of-Schedule Billing Totals for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR / 9836-00005:

Spot Count

Net Billing

April

2023

6

\$0.00

Confirmed & Accepted for WJMC By:

apted for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR By:

WJMC P.0. BOX 352 RICE LAKE, WI 54868 USA 715-234-2131

Order #: 9836-00004

Description: POLITICAL

Date Entered: 3/31/2023

P.O.#:

Salesperson: ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR

On-Air Schedule

	Start Date	End Date	Station	Scheduled	Time/Event	Repeated	Length	Qty	Rate	Total	M	Tu	W	Th	E	Sa	Su
1	4/3/2023	4/3/2023	WJMC-AM	06:00:00	to 10.00:00	Weekly	:30	2	12.50	25.00	2	0	0	0	0	0	0
2	4/3/2023	4/3/2023	WJMC-AM	10:00:00	to 15:00:00	Weekly	:30	2	12.50	25.00	2	0	0	0	0	0	0
3	4/3/2023	4/3/2023	WJMC-AM	15:00:00	to 19:00:00	Weekly	30	2	12.50	25.00	2	0	0	0	0	0	n

Order Start Date: 4/3/2023

Order End Date: 4/3/2023

Spots: 6

Total Charges:

\$75.00

Projected Calendar Month/End-Of-Schedule Billing Totals for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR / 9836-00004:

Spot Count

Net Billing

April

2023

\$75.00

Confirmed & Accepted for WJMC By:

epted for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR By:

Please Sign and Return One Copy

WAQE 1859 21ST AVE. P.O. BOX 703 RICE LAKE, WI 54868 USA 715-234-9059

9836-00003 Order#. Description: POLITICAL Date Entered: 3/31/2023

P.O.#:

Salesperson: ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR

On-Air Schedule

8	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	Total	M	Tu	W	Th	E	Sa	Su
1	4/3/2023	4/3/2023	WAQE-AM	06:00:00 to 10:00:00	Weekly	:30	2	9.75	19.50	2	0	0	0	0	0	0
2	4/3/2023	4/3/2023	WAQE-AM	10:00:00 to 15:00:00	Weekly	:30	2	9.75	19.50	2	0	0	0	0	0	0
3	4/3/2023	4/3/2023	WAQE-AM	15:00:00 to 19:00:00	Weekly	:30	2	9.75	19.50	2	0	0	0	0	0	0

Total Charges: \$58.50 Order Start Date: 4/3/2023 Order End Date: 4/3/2023 Spots: 6

Projected Calendar Month/End-Of-Schedule Billing Totals for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR / 9836-00003 :

Spot Count

Net Billing \$58.50 2023 April 6

Confirmed & Accepted for WAQE By:

:pted for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR By:

WAQE 1859 21ST AVE. P.O. BOX 703 RICE LAKE, WI 54868 USA 715-234-9059

Order #: 9836-00002 Description: POLITICAL Date Entered: 3/31/2023

P.O.#:

Salesperson: ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR

On-Air Schedule

	Start Date	End Date	Station	Scheduled	Time/Event	Repeated	Length	Oty	Rate	Total	M	Tu	W	Th	F	Sa	Su
1	4/3/2023	4/3/2023	WAQE-FM	06:00:00	to 10:00:00	Weekly	:30	2	9.75	19.50	2	0	0	0	0	0	0
2	4/3/2023	4/3/2023	WAQE-FM	10:00:00	to 15:00:00	Weekly	:30	2	9.75	19.50	2	0	0	0	0	0	0
3	4/3/2023	4/3/2023	WAQE-FM	15 00 00	to 19:00:00	Weekly	30	2	9.75	19.50	2	0	0	0	0	0	0

Order Start Date: 4/3/2023

Order End Date: 4/3/2023

Spots: 6

Total Charges:

\$58.50

Projected Calendar Month/End-Of-Schedule Billing Totals for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR / 9836-00002 :

Spot Count

Net Billing

April

2023

6

\$58.50

Confirmed & Accepted for WAQE By:

:pted for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR By:

WKFX P.O. BOX 352 RICE LAKE, WI 54868 USA 715-736-9910

Order#: Description: POLITICAL

9836-00006

Date Entered: 3/31/2023

P.O.#:

Salesperson: ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR PO BOX 165 CHETEK, WI 54728

On-Air Schedule

	Start Date	End Date	Station	Scheduled	Time/Event	Repeated	Length	Qty	Rate	Total	M	Tu	W	Th	E	Sa	Su
1	4/3/2023	4/3/2023	WKFX-FM	08:00:00	to 10:00:00	Weekly	:30	2	10.50	21.00	2	0	0	0	0	0	0
2	4/3/2023	4/3/2023	WKFX-FM	10:00:00	to 15:00:00	Weekly	:30	2	10.50	21.00	2	0	0	0	0	0	0
3	4/3/2023	4/3/2023	WKEX-FM	15 00 00	to 19:00:00	Weekly	:30	2	10.50	21.00	2	0	0	0	0	0	0

Order Start Date: 4/3/2023

Order End Date: 4/3/2023

Spots: 6

Total Charges:

\$63.00

Projected Calendar Month/End-Of-Schedule Billing Totals for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR / 9836-00006 :

Spot Count

Net Billing

April

2023

6

\$63.00

Confirmed & Accepted for WKFX By:

epted for BRIAN CLAUDNIC FOR TOWN OF STANLEY SUPERVISOR By: